MENS HANDICAP SINGLES

Matches are played with the winner being the first person to reach 21 shots. The handicap is worked out so that the player receiving the shots will start on a score
representing the difference between the 2 players handicaps. E.g. When Fred Baldwin (-2) plays Jack Pipe {(-1) then Jack will start on a score of 1 and Fred will start on 0.
The winner is the first player to reach 21. Please enter the match score in the box provided

Preliminary Round ROUND 1 ROUND 2 SEMI-FINAL FINAL
To Be Played
To Be played by 16th To Be played by 14th To Be Played by To Be Played by Finals Weekend
June 2013 July 2013 4th August 2013 25th August 2013 31/31 Aug &1 Sep
2013

Fred Baldwin -2 I_
v [
Jack Pipe -1 v ]

Graham Matthews +1

v [ [
Gary West +1 v
Ron Jay +1

v [

Gerald Moores -2 | v
David Edwards +1 |

Roger Crick -4
V [ —

Bruce Patterson +1 |

Dan Livett +1 |
v ]
Eddie Chanell -2 |

lan Brown -2
; [ —
Norman Bonham L I:

John Powell +2 |
v L
Matthew Crick +2 |

Neil Thompson +2 |
v

Tony Leone -2 |

Stephen McNeill -2 |
\"
Nick Griffiths -2 |




